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The text below is used to answer questions number 1-5

Rani :What time do you get up every morning ?

Nina :lgetupat5a.m. What about you ?

Rani :lusually get up at 4.30. | have many works to do in the morning.
Nina :1do nothing. I just take a bath, breakfast, and then go to school.
Rani :Yup. Listen ! The bell is ringing. Let’s enter the classroom.

Nina :Alright. Let’s go. The teacher is waiting for us.

1. What are Rani and Nina ? They are ....
. housewives

servants

students

o N @ >

. teachers

2. Where does the dialogue take place ?
A. at home
B. at school
C. in the house

D. in the classroom

3. What do you conclude from the dialogue ?
A. Rani gets up later than Nina
B. Rani gets up earlier than Nina
C. Nani gets up earlier than Rani

D. Nani gets up as early as Rani

4. " Alright. Let’s go.” The sentence ‘Let’s go” can be replaced by ....

A.lsee.
B. Come on
C. You are good.

D. I don’t think of it.

5. What do you think of Rani ? She s ....
A. as lazy as Nani
B. lazier than Nani
B. as diligent as Nani

C. more diligent than Nani

The text below is for questions number 6 - 8

Johnny : What do you think of a car ?

Willy : | think it is the fastest vehicle

Johnny : How come ? Don’t you know aeroplane ?
Willy : Oh I see. You are right.

Johnny : And What about a motor car ?

Willwu « | think it ic the clawect nne






6. What are the two boys talking ? They are talking about ....
A. aeroplane
B. motor car
C. vehicle

D. bike

7. Which sentence below is right ?
A. A car is the fastest
B. A bike is the slowest
C. A motor car is the slowest

D. A motor car is slower than a bike

8. Which sentence below is right ?
A. A bike is faster than a motor car
B. A plane is as fast as motor car
C. A car is as fast as a motor car

D. A plane is the fastest vehicle

Text below is for questions number 9 - 10

Rudy :Listen! | have 5 pencils and 3 ballpoints. What about you ?
Mira : OK. I have 2 pencils and 4 ballpoints.
Nana :1 have 5 pencils and 4 ballpoints
9. Which sentence below is right ?
A. Rudi has more pencils than Mira
B. Rudi has more ballpoints than Mira
C. Rudi has more pencils than Nana

D. Mira has more pencils than Rudi

10. Which sentence below is right ?
A. Rudi’s pencils are as many as Nana's pencils
B. Rudi’s pencils are as many as Mira’s pencils
C. Nana's pencils are as many as Mira’s pencils

D. Nana's ballpoints are as many as Rudi’s balloints



